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Plan of the lesson

* Phonetic support

 Home task: words to the unite «INDUSTRY
AND AGRICULTURE OF THE U.K.»

» Exercises to the text
e Grammar unite «Present Simple»
* Exercises to the grammar

* Home task
 Marks



Phonetic support

* Repeat after teacher

variety pa3HooOpa3ue
Industry NPOMbILUNEHHOCTb
Agriculture cesibCKOe XO3fANCTBO
coal yronb

yields ypoxamn

pasture nacrtouwa

barley AYMEeHb

wheat nweHuya

Sheep oBUa

cattle KPYNHbIN poraTbi CKOT
Pig NOpPOCEHOK

mutton OapaHuHa

Livestock AOMAaLUHUN CKOT

source MCTOYHUK



Fill in the letters:

Var__ty .
variety
Ll e Industry
—gric__lture Agriculture
c_| coal
ields .
Past_ re yields
EUE pasture
W___ at barley
Sh p
gia—'e wheat
- Sheep
M tton
Live ock cattle
S rce Piqg
mutton
Livestock

source




Follow the tenses:

In the past English industrial

prosperity rested on a few important products,
such as textiles, coal and heavy machinery.

Now the U.K. has a great variety
of industries

heavy and light industry, chemical, aircraft, electrical,
automobile and many other industries.

Heavy engineering and

other traditional industries have experienced a certain decline.

Newcastle is famous for coal industry

the county of Lancashire for its textile industry.

The Midlands are famous
for

the production of machinery, coal, motor cars and chemicals

Leeds is a centre of clothing industry

producing woolen articles.

Glasgow is a major port on the River
Clyde

where shipbuilding industry is developed.

Birmingham is an iron

and steel centre.

Wheat, barley, oats and potatoes

are the most important crops grown.

Sheep is a source of both wool

for textile industry and mutton for food industry




Compare the tenses:

Sheep is a source of both wool for textile industry and mutton for food industry.

AHrnumnckoe npomMbillieHHOe npouBeTaHue OCHOBbIBAeTCA Ha HECKOJIbKUX BaXXHbIX MPpon3BoACcTBax

Wheat, barley, oats and potatoes are the most important crops grown.

HoBble TexHonornm 6onbLue pa3BuBarOTCA 4YeM TAXernad NPpoOMbILLIIIeHHOCTD.

Three-quarters of the United Kingdom'’s land is dedicated to agriculture

CoeanHeHHOEe KOPOeBCTBO OTHOCUTCA K MUPOBOW NPOU3BOACTBEHHOMN HaLUun.

London is a big port on the River Thames, a major commercial, industrial
centre.

JloHgoH — 310 6onbLoNn NOPT Ha peke Tem3e, rMaBHbI KOMMEPYECKUM U MPOMbILLSIEHHbINA LEHTP

The United Kingdom is considered one of the world’s major manufacturing nations.

Tpu yeTBepTU 3eMenb Benuko6puTaHUmM 3aHATHLI CETIbCKUM XO3AUCTBOM.

English industrial prosperity rested on a few important products.

MweHnya, A4YMeHb, oBec U KapTodenb rnMaBHbie NPOMbILIIEHHbIe KYNbTypbl.

High technology industries are more developed than heavy engineering.

OBUbI ABNAKOTCA UCTOYHUKOM KakK wepcTtu ans TEeKCTUINbHOMN NMPOMbLILUNTIEHHOCTU, TaK U 6apa|-w||-|b|
ANSA NuweBon MPOMBbLILUJIEHHOCTM!.




Find the answers to the following questions in the text:

1. What industries were developed in England in the past?

2. What industries are developed in the U.K. at present?

3. Are high technology industries now developed more than heavy
engineering?

4. What coal industry centre is mentioned in the text?

5. What is a famous textile centre in the U.K.?

6. What are the Midlands famous for?

/. How are the following cities: London, Leeds, Glasgow, Liverpool,
Birmingham, Manchester, characterized?

8. What part of the population is engaged in agriculture?
9. What are most important crops grown in Britain?
10. What is the livestock in Britain?



